$\begin{array}{c} \mbox{GENERATING}\\ \mbox{THE EXPONENTIALLY STABLE C_0-SEMIGROUP$\\ \mbox{IN A NONHOMOGENEOUS STRING EQUATION$}\\ \mbox{WITH DAMPING AT THE END} \end{array}$

Łukasz Rzepnicki

Communicated by P.A. Cojuhari

Abstract. Small vibrations of a nonhomogeneous string of length one with left end fixed and right one moving with damping are described by the one-dimensional wave equation

$$\begin{cases} v_{tt}(x,t) - \frac{1}{\rho(x)} v_{xx}(x,t) = 0, & x \in [0,1], \quad t \in [0,\infty), \\ v(0,t) = 0, & v_x(1,t) + hv_t(1,t) = 0, \\ v(x,0) = v_0(x), & v_t(x,0) = v_1(x), \end{cases}$$

where ρ is the density of the string and h is a complex parameter. This equation can be rewritten in an operator form as an abstract Cauchy problem for the closed, densely defined operator B acting on a certain energy space H. It is proven that the operator B generates the exponentially stable C_0 -semigroup of contractions in the space H under assumptions that $\operatorname{Re} h > 0$ and the density function is of bounded variation satisfying $0 < m \leq \rho(x)$ for a.e. $x \in [0, 1]$.

Keywords: nonhomogeneous string, one-dimensional wave equation, exponentially stable C_0 -semigroup, Hilbert space.

Mathematics Subject Classification: 34L99, 47B44, 47D03.

1. INTRODUCTION

Let us consider a finite nonhomogeneous string of length one with left end fixed and right one moving with damping. If we denote v = v(x, t) as a vertical position of the string in time on the interval [0, 1], then small vibrations are described by the wave equation

$$v_{tt}(x,t) - \frac{1}{\rho(x)}v_{xx}(x,t) = 0, \quad x \in [0,1], \quad t \in [0,\infty),$$
(1.1)

151

[©] AGH University of Science and Technology Press, Krakow 2013

with boundary conditions

$$v(0,t) = 0, \quad v_x(1,t) + hv_t(1,t) = 0,$$
(1.2)

and initial conditions

$$v(x,0) = v_0(x) \quad v_t(x,0) = v_1(x).$$
 (1.3)

We assume that the density function ρ is of bounded variation and satisfies

$$0 < m \le \rho(x) \le M$$
 for a.e. $x \in [0, 1]$. (1.4)

Parameter $h \in \mathbb{C}$ is allowed to be complex, since this kind of boundary conditions can be used to describe an action of "smart materials", e.g. piezoelectric actuators (see [9] and references therein). The functions v_0 and v_1 are initial position and velocity, respectively.

In what follows we will use the notation C = C[0,1] for the space of continuous functions with the supremum norm $\|\cdot\|_C$ and $W_2^1[0,1]$ for the Sobolev space with the first derivative in $L_2[0,1]$. Let $\widehat{W}_2^1[0,1] = \{y \in W_2^1[0,1] : y(0) = 0\}$, with the scalar product

$$\langle u_1, u_2 \rangle_1 = \int_0^1 u_1'(x) \overline{u}_2'(x) dx, \ u_j \in \widehat{W}_2^1[0, 1], \ j = 1, 2,$$
 (1.5)

and let $\hat{L}_2[0,1]$ be the space $L_2[0,1]$ equipped with the scalar product

$$\langle v_1, v_2 \rangle_2 = \int_0^1 \rho(x) v_1(x) \overline{v}_2(x) dx, \ v_j \in \widehat{L}_2[0, 1], \ j = 1, 2.$$
 (1.6)

We can rewrite problem (1.1)-(1.3) as an abstract Cauchy problem in a certain energy space (see, for instance [11]). As the energy space we take the Hilbert space

$$H = \widehat{W}_2^1[0,1] \oplus \widehat{L}_2[0,1].$$

Let the linear operator $B: \mathcal{D}(B) \to H$ be defined as follows

$$B = \begin{bmatrix} 0 & I\\ 1/\rho(x) D^2 & 0 \end{bmatrix}, \quad D = \frac{d}{dx}, \tag{1.7}$$

on the domain

$$\mathcal{D}(B) = \left\{ (u, v) \in W_2^2[0, 1] \oplus \widehat{W}_2^1[0, 1] : \ u(0) = 0, \ u'(1) + hv(1) = 0 \right\}.$$
(1.8)

Here I denotes the identity operator on $\widehat{W}_2^1[0,1]$. If we choose $V(t) = \begin{bmatrix} v(x,t) \\ v_t(x,t) \end{bmatrix}$, then problem (1.1)–(1.3) has the form

$$\frac{d}{dt}V(t) = BV(t), \quad t > 0, \tag{1.9}$$

$$V(0) = \begin{bmatrix} v_0(x) \\ v_1(x) \end{bmatrix}.$$
 (1.10)

The operator B is unbounded, closed, densely defined and has a compact inverse (see Section 2). We will prove that B is a generator of the exponentially stable C_0 -semigroup $T(t) = e^{Bt}$, $t \ge 0$, which means that a solution of problem (1.9)–(1.10) converges exponentially to zero with respect to the energy norm. Consequently, physical energy of the string decays exponentially in time.

This fact is a generalization of results from [4], where some estimations of solutions of the equation

$$y''(x) + \mu^2 \rho(x) y(x) = 0, \quad x \in [0, 1], \quad \mu \in \mathbb{C},$$
 (1.11)

were provided. As a consequence of those estimations authors showed that the operator *B* induced by problem (1.1)–(1.3) generates the exponentially stable C_0 -semigroup in the case when h = 1 (see [4, Theorem 4.1]). The problem of a string free at the left end and damped at the right end with h = 1 was considered in [1] for $\rho \in W_1^1[0, 1]$, where completely different methods were used (results for the damped homogeneous string, i.e. $\rho \equiv 1$ can be found in [2]). When Re h > 0 we can deal with a broader class of physical phenomena connected with the string equation.

We will use the following estimations to prove our main result.

Proposition 1.1 ([4, Proposition 1.3]). If $y \in W_1^2[0,1]$ is the solution of (1.11), ρ satisfies (1.4) and $f \in \widehat{W}_2^1[0,1]$, then for any $\mu \in \mathbb{C} \setminus \{0\}$ the following estimation is valid

$$\left| \int_{0}^{1} y(t,\mu)\rho(t)f(t) \right| dt \leq 3|\mu|^{-2} ||y'||_{C} ||f'||_{L_{2}}.$$

Theorem 1.2 ([4, Theorem 3.1]). Let the density functions ρ be of bounded variation $\mathcal{V}(\rho)$ and satisfying (1.4). Then for $\mu \neq 0$ and any solution $y \in W_1^2[0,1]$ of the equation (1.11) the following inequalities hold for every $x \in [0,1]$:

$$\left(|\mu|^2 |y(0)|^2 + |y'(0)|^2 / M\right) e^{-2\alpha_0(|\tau|)} \le |\mu|^2 |y(x)|^2 + |y'(x)|^2 / m,$$
(1.12)

$$\left(|\mu|^2 |y(x)|^2 + |y'(x)|^2 / M\right) \le \left(|\mu|^2 |y(0)|^2 + |y'(0)|^2 / m\right) e^{2\alpha_0(|\tau|)},\tag{1.13}$$

where $\tau = \text{Im } \mu$ and $\alpha_0(|\tau|) = \frac{\mathcal{V}(\rho)}{2m} + |\tau| \|\rho^{1/2}\|_{L_1}$.

2. GENERATING THE CONTRACTION C_0 -SEMIGROUP

We will first investigate some properties of the operator B. Simple calculations reveal that the inverse $B^{-1}: H \to H$ of B is given by

$$B^{-1} = \left[\begin{array}{cc} B_1 & B_2 \\ I_1 & 0 \end{array} \right].$$

The operator B_1 is defined by

$$(B_1f)(x) = -hf(1)x, x \in [0,1].$$

According to [6, §1.4.5, Theorem 2] there is a continuous embedding $\widehat{W}_2^1[0,1] \hookrightarrow C[0,1]$, thus B_1 is a one-dimensional, compact operator acting on $\widehat{W}_2^1[0,1]$. The operator $B_2: \widehat{L}_2[0,1] \to W_2^2[0,1]$ acts as follows

$$(B_2g)(x) = \int_0^x (x-t)\rho(t)g(t)dt - x\int_0^1 \rho(t)g(t)dt, \quad x \in [0,1],$$

and is bounded. Moreover, by [6, §1.4.5, Theorem 2], we have a compact embedding $W_2^2[0,1] \hookrightarrow W_2^1[0,1]$. Note that $(B_2g)(0) = 0$, hence $B_2: \widehat{L}_2[0,1] \to \widehat{W}_2^1[0,1]$ is compact. Here I_1 denotes a compact embedding $I_1: \widehat{W}_2^1[0,1] \hookrightarrow \widehat{L}_2[0,1]$ which exists again by [6, §1.4.5, Theorem 2]. This implies that B^{-1} is compact on H and in particular B is closed. One can show that $\overline{\mathcal{D}}(B) = \overline{\operatorname{ran}(B^{-1})} = H$ and B is densely defined. As a conclusion, the spectrum of B consists of at most a countable number of eigenvalues with the accumulation point at infinity.

Let us recall that an operator B is *dissipative* in the Hilbert space H, if for all $x \in \mathcal{D}(B)$

$$\operatorname{Re}\langle Bx, x \rangle \le 0. \tag{2.1}$$

For more information about dissipative operators, see [3, Chapter II], [7, Chapter I], [8]. It is well known that a densely defined, maximal dissipative operator generates a contraction C_0 -semigroup (see [3, Chapter II, Theorem 3.15]). We will use this fact to prove our first result.

Theorem 2.1. If the density function ρ satisfies (1.4) and $\operatorname{Re} h \geq 0$. Then the operator B generates the contraction C_0 -semigroup in the space H.

Proof. We showed that B is densely defined. It suffices to prove that B is maximal dissipative. Let w = (u, v) be from the domain of B. Using integration by parts and (1.8), we obtain

$$\langle Bw, w \rangle_H = \left\langle (v, u''/\rho), (u, v) \right\rangle_H = \langle v, u \rangle_1 + \langle u''/\rho, v \rangle_2 =$$

$$= \int_0^1 v'(x)\overline{u'(x)}dx + \int_0^1 u''(x)\overline{v(x)}dx =$$

$$= \int_0^1 v'(x)\overline{u'(x)}dx + u'(1)\overline{v(1)} - \int_0^1 u'(x)\overline{v'(x)}dx =$$

$$= \langle v, u \rangle_1 - \langle u, v \rangle_1 - h|v(1)|^2 = 2i\operatorname{Im}\langle v, u \rangle_1 - h|v(1)|^2,$$

thus

$$\operatorname{Re}\langle Bw, w \rangle_H = -\operatorname{Re} h |v(1)|^2.$$

Consequently, the operator B is dissipative whenever $\operatorname{Re} h \geq 0$. Since the inverse of B is bounded, zero belongs to the resolvent set $\rho(B)$. The resolvent set is open, therefore there exists $\lambda > 0$ in $\rho(B)$, which implies B is maximal dissipative. This ends the proof.

Remark 2.2. In what follows we exclude the case when $\operatorname{Re} h = 0$, because in this case the operator *B* is skew-adjoint and there is no exponential stability of T(t).

3. GENERATING THE EXPONENTIALLY STABLE C_0 -SEMIGROUP

Recall the definition of a stable C_0 -semigroup (see [3, Chapter V, Definition 1.1]).

Definition 3.1. The C_0 -semigroup T(t) is exponentially stable if

$$\omega_0 = \lim_{t \to \infty} \frac{1}{t} \log \|T(t)\| < 0.$$
(3.1)

It follows that, if $\omega_0 < 0$ then for all $0 < \omega < |\omega_0|$, there exists $M_{\omega} > 0$ such that

$$||T(t)|| \le M_{\omega}e^{-\omega t}, \quad t \ge 0.$$

The well known Gearhart theorem [3, Chapter V, Theorem 1.11] states that the C_0 -semigroup of operators in the Hilbert space with a generator B is exponentially stable if and only if $\mathbb{C}_+ = \{\mu \in \mathbb{C}; \text{ Re } \mu > 0\} \subset \rho(B)$ and

$$\sup_{\operatorname{Re} \mu > 0} \| (B - \mu I)^{-1} \| < \infty.$$

We will use the following proposition, which is a consequence of the Gearhart theorem, to prove that B is the generator of the exponential stable C_0 -semigroup.

Proposition 3.2. Let B be the linear operator acting on the Hilbert space H which generates a uniformly bounded C_0 -semigroup of operators T(t), $t \ge 0$. Suppose that there exists the resolvent on the imaginary axis, which is uniformly bounded, i.e.

$$||(B - i\tau I)^{-1}|| \le r, \quad \tau \in \mathbb{R}, \quad r > 0.$$
(3.2)

Then the semigroup T(t) is exponentially stable and moreover for any $0 < \delta < r^{-1}$ there exists a constant $M_{\delta} > 0$ such that

$$||T(t)|| \le M_{\delta} e^{-\delta t}, \quad t \ge 0.$$
(3.3)

Proof. Since the operator B is a generator of the uniformly bounded semigroup, the Hille-Yosida theorem states that \mathbb{C}_+ is in the resolvent set and there exists $r_1 > 0$ such that

$$||(B - \mu I)^{-1}|| \le \frac{r_1}{\operatorname{Re}\mu} \text{ for } \operatorname{Re}\mu > 0.$$
 (3.4)

Let $0 < \delta < r^{-1}$. Then thanks to the inequality (3.2) for $\mu = s + i\tau$ such that $|s| \leq \delta < r^{-1}$, the resolvent exists and is given by

$$(B - \mu I)^{-1} = (B - i\tau I)^{-1} \left[I - s(B - i\tau I)^{-1} \right]^{-1}.$$
(3.5)

From (3.2) and (3.5) we obtain the estimation

$$||(B - \mu I)^{-1}|| \le r(1 - \delta r)^{-1}, \quad |s| \le \delta.$$
(3.6)

Combining (3.4) and (3.6), we obtain for any λ such that $\operatorname{Re} \lambda \geq 0$ the following relation

$$||(B+\delta-\lambda I)^{-1}|| = ||(B-(\lambda-\delta)I)^{-1}|| \le c_{\delta} = \max\{r_1\delta^{-1}, r(1-\delta r)^{-1}\}.$$

Thus the Gearhart theorem yields the exponential stability of the semigroup $e^{(B+\delta)t}$ generated by the operator $B + \delta$. By Definition 3.1,

$$0 > \lim_{t \to \infty} \frac{1}{t} \log \|e^{(B+\delta)t}\| = \lim_{t \to \infty} \frac{1}{t} \log \|e^{Bt} e^{\delta t}\| = \lim_{t \to \infty} \frac{1}{t} \log \|e^{Bt}\| + \delta,$$
(3.7)

so T(t) is exponentially stable and for all $0 < \delta < r^{-1}$ there exists $M_{\delta} > 0$ such that

$$||T(t)|| \le M_{\delta} e^{-\delta t}, \quad t \ge 0.$$
 (3.8)

For the convenience of further calculations we introduce the operator A defined on D(A) = D(B) by

$$A = i \begin{bmatrix} 0 & -I \\ -1/\rho(x) D^2 & 0 \end{bmatrix},$$
(3.9)

so that B = iA. More information about the operator A can be found in [4, 10, 11]. By Theorem 2.1 and Proposition 3.2, it is sufficient now to prove that the resolvent of the operator A exists on the real axis and is bounded, but we will also provide the lower bound of the spectrum of the operator A.

Lemma 3.3. Let the density function ρ be of bounded variation $\mathcal{V}(\rho)$ satisfying (1.4) and let h = a + ib be such that $a = \operatorname{Re} h > 0$. Then all the eigenvalues $\mu = s + i\tau$ of the operator A are uniformly separated from the real axis and the following inequality holds

$$\tau \ge c(1 + 4c \|\rho^{1/2}\|_{L_1})^{-1} > 0,$$

where $c = \frac{am^2}{M^2(m+|h|^2)}e^{-\frac{2\mathcal{V}(\rho)}{m}}$.

Proof. Since B is dissipative, then $\operatorname{Im}(Aw, w)_H \geq 0$ and every eigenvalue μ of the operator A satisfies $\operatorname{Im} \mu \geq 0$. The operator B has a compact inverse, hence $\mu = 0$ is not an eigenvalue of A. We want to prove that the spectrum of A is separated from the real axis. If μ is an eigenvalue of A with an eigenfunction w = (u, v), then by (3.9) we get $v = i\mu u$ and u satisfies

$$u''(x) + \mu^2 \rho(x)u(x) = 0, \quad x \in [0, 1],$$
(3.10)

with boundary conditions

$$u(0) = 0, \quad U[u](\mu) := u'(1) + i\mu hu(1) = 0.$$
 (3.11)

Multiplying by \overline{u} , dividing by μ and integrating by parts (3.10), thanks to (3.11) we obtain

$$ih|u(1)|^{2} = \mu \int_{0}^{1} \rho(x)|u(x)|^{2} dx - \frac{1}{\mu} \int_{0}^{1} |u'(x)|^{2} dx.$$
(3.12)

By taking the imaginary part of the above equation we obtain the equality

$$a|u(1)|^{2} = \tau \int_{0}^{1} \rho(x)|u(x)|^{2} dx + \frac{\tau}{|\mu|^{2}} \int_{0}^{1} |u'(x)|^{2} dx.$$
(3.13)

Thus (1.4) implies

$$a|u(1)|^{2} \leq \tau \left(M \|u(x)\|_{L_{2}}^{2} + \frac{\|u'(x)\|_{L_{2}}^{2}}{|\mu|^{2}} \right).$$
(3.14)

We want now to obtain a lower bound of |u(1)|. Using Theorem 1.2 and (3.11) we have

$$\begin{split} |\mu|^2 |u(1)|^2 \big(1 + |h|^2 m^{-1}\big) &= |\mu|^2 |u(1)|^2 + |u'(1)|^2 / m \ge \\ &\ge \Big(|\mu|^2 |u(0)|^2 + |u'(0)|^2 / M\Big) e^{-2\alpha_0(\tau)} \ge \\ &\ge \frac{m}{M^2} |\mu|^2 \Big(M |u(x)|^2 + \frac{|u'(x)|^2}{|\mu|^2}\Big) e^{-4\alpha_0(\tau)}, \end{split}$$

thus the integration yields

$$|u(1)|^{2} \geq \frac{m^{2}}{M^{2}(m+|h|^{2})} \Big(M ||u(x)||_{L_{2}}^{2} + \frac{||u'(x)||_{L_{2}}^{2}}{|\mu|^{2}} \Big) e^{-4\alpha_{0}(\tau)}.$$
 (3.15)

Combining (3.14) with (3.15) and using the inequality $e^{-x} \ge 1 - x$ for $x \ge 0$, we obtain

$$\tau \geq \frac{am^2}{M^2(m+|h|^2)} e^{-\frac{2\nu(\rho)}{m}} e^{-4\tau \|\rho^{1/2}\|_{L_1}} \geq \geq \frac{am^2}{M^2(m+|h|^2)} e^{-\frac{2\nu(\rho)}{m}} (1-4\tau \|\rho^{1/2}\|_{L_1}),$$

hence

$$\tau \ge c(1+4c\|\rho^{1/2}\|_{L_1})^{-1} > 0,$$
 with a constant $c = \frac{am^2}{M^2(m+|h|^2)}e^{-\frac{2\mathcal{V}(\rho)}{m}}.$

We can now state and prove our main theorem.

Theorem 3.4. Let the density function ρ be of bounded variation $\mathcal{V}(\rho)$ satisfying (1.4) and $\operatorname{Re} h > 0$. Then the operator B generates the exponentially stable C_0 -semigroup in the space H.

Proof. Since B = iA and the resolvent of the operator A exists on the real axis, by Proposition 3.2 it suffices to show that

$$\|(A - sI)^{-1}\|_{H} \le r, \quad s \in \mathbb{R}, \quad r > 0.$$
(3.16)

The resolvent $(A - \mu I)^{-1}$ of the operator A is defined by an equation

$$(A - \mu I)(u, v) = (f, g),$$
 (3.17)

where $(u, v) \in \mathcal{D}(A)$ and $(f, g) \in H$. Hence, our problem is reduced to finding a solution of the boundary value problem

$$u''(x) + \mu^2 \rho(x)u(x) = L(x,\mu), \qquad (3.18)$$

$$u(0) = 0, \quad U[u](\mu) = u'(1) + i\mu hu(1) = -ihf(1),$$
 (3.19)

where

$$L(x,\mu) = \rho(x)[ig(x) - \mu f(x)], \qquad (3.20)$$

and v is expressed by the formula

$$v(x) = i(f(x) + \mu u(x)).$$
(3.21)

Let $y_1 = y_1(x,\mu), y_2 = y_2(x,\mu)$ be a fundamental system of solutions of equation (3.10) such that

$$y_1(0,\mu) = 0, \quad y'_1(0,\mu) = 1, \quad y_2(0,\mu) = -1, \quad y'_2(0,\mu) = 0.$$
 (3.22)

A particular solution $y_0 = y_0(x, \mu)$ of the nonhomogeneous equation (3.18) is given by the formula

$$y_0(x,\mu) = y_2(x,\mu) \int_0^x y_1(t,\mu)L(t,\mu)dt + y_1(x,\mu) \int_x^1 y_2(t,\mu)L(t,\mu)dt.$$
(3.23)

We want to find the solution of the problem (3.18)–(3.19) of the form $y(x,\mu) = Cy_1(x,\mu) + y_0(x,\mu)$. By using boundary conditions (3.19), we obtain

$$u(x,\mu) = -\frac{ihf(1) + U[y_0](s)}{U[y_1](\mu)}y_1(x,\mu) + y_0(x,\mu).$$
(3.24)

Thus the resolvent exists for all μ , which does not coincide with the roots of the analytic function $U[y_1](\mu)$. In particular $U[y_1](0) = 1$ and the inverse of the operator A exists and is bounded, which has been shown in Section 2.

For an arbitrary $w = (f, g) \in H$ and $s \in \mathbb{R}$, (3.21) implies the following estimation of the resolvent

$$\|(A - sI)^{-1}w\|_{H}^{2} = \int_{0}^{1} |u'(x,s)|^{2} dx + \int_{0}^{1} \rho(x)|v(x,s)|^{2} dx \le (3.25)$$

$$\leq \|u'(x,s)\|_{L_2}^2 + 2Ms^2 \|u(x,s)\|_{L_2}^2 + 2M\|f(x)\|_{L_2}^2.$$
(3.26)

In order to establish the main result we need the following estimations

$$||u'(x,s)||_{L_2} \le c||w||_H, ||u(x,s)||_{L_2} \le cs^{-1}||w||_H.$$

According to (3.24), we need a lower bound of $|U[y_1](s)|$. In the case when $s \in \mathbb{R}$, the functions y_1 and y_2 are real-valued, and

$$|U[y_1](s)|^2 = (y_1'(1,s))^2 + s^2 a^2 y_1^2(1,s) + s^2 b^2 y_1^2(1,s) - 2bsy_1(1,s)y_1'(1,s).$$

When $b \neq 0$, using the Cauchy inequality $2xy \leq \xi x^2 + \frac{y^2}{\xi}$ in the last term yields

$$|U[y_1](s)|^2 \ge (y_1'(1,s))^2 (1-\xi^{-1}) + y_1^2(1,s)s^2(a^2+b^2-b^2\xi).$$

However we can always find ξ such that $1 < \xi < 1 + \frac{a^2}{b^2}$. Writing

$$k = \min\left\{m(1-\xi^{-1}), a^2 + b^2 - b^2\xi\right\} > 0,$$

we find that $k = \frac{1}{2} \left(|h|^2 + m - \sqrt{(m - |h|^2)^2 + 4mb^2} \right) \ge k_0 = \frac{a^2m}{|h|^2 + m} > 0$. Again by Theorem 1.2 and (3.22), we obtain

$$|U[y_1](s)|^2 \ge k_0 \left(s^2 y_1^2(1,s) + \frac{\left(y_1'(1,s)\right)^2}{m} \right) \ge \\ \ge k_0 C_1^{-1} \left(s^2 y_1^2(0,s) + \frac{\left(y_1'(0,s)\right)^2}{M} \right) = k_0 C_1^{-1} M^{-1} > 0,$$

where $C_1 = e^{\mathcal{V}(\rho)/m}$. Consequently, we have

$$|U[y_1](s)|^{-1} \le c_0 = (k_0^{-1}C_1M)^{\frac{1}{2}}.$$
(3.27)

If b = 0, take $k_0 = \min\{m, a^2\}$.

In what follows we will need an even real function $\mathbb{R} \ni s \mapsto z(s)$ and its estimation. Define

$$z^{2}(s) = s^{2} ||y_{1}(x,s)||_{C}^{2} + ||y_{1}'(x,s)||_{C}^{2} + ||y_{2}(x,s)||_{C}^{2} + s^{-2} ||y_{2}'(x,s)||_{C}^{2}.$$

In the same way as in [4, (4.10)] we obtain

$$z(s) \le c_1 = 2(M_1(m^{-1} + 1)C_1)^{\frac{1}{2}}, \qquad (3.28)$$

where $M_1 = \max\{1, M\}$. From the definition of z we obtain

$$\begin{aligned} \|y_1(x,s)\|_{L_2} &\leq \|y_1(x,s)\|_C \leq z(s)|s|^{-1} \leq c_1|s|^{-1}, \\ \|y_1'(x,s)\|_{L_2} &\leq \|y_1(x,s)\|_C \leq z(s) \leq c_1, \\ \|y_2(x,s)\|_{L_2} &\leq \|y_2(x,s)\|_C \leq z(s) \leq c_1, \\ \|y_2'(x,s)\|_{L_2} &\leq \|y_2'(x,s)\|_C \leq z(s)|s| \leq c_1|s|. \end{aligned}$$

$$(3.29)$$

We can now estimate $|U[y_0](s)|$. Using Proposition 1.1 and (1.4), (3.29), we get

$$U[y_{0}](s)| = |y_{2}'(1,s) + ishy_{2}(1,s)| \left| \int_{0}^{1} y_{1}(t,s)L(t,s)dt \right| \leq \\ \leq c_{1}|s|(1+|h|) \left| \int_{0}^{1} y_{1}(t,s)\rho(t)[ig(t) - sf(t)]dt \right| \leq \\ \leq c_{1}|s|(1+|h|) \left(c_{1}\sqrt{M}|s|^{-1}||g||_{\hat{L}_{2}} + |s| \left| \int_{0}^{1} y_{1}(t,s)\rho(t)f(t)]dt \right| \right) \leq \\ \leq c_{1}^{2}(1+|h|) \left(\sqrt{M}||g||_{\hat{L}_{2}} + 3||f'||_{L_{2}} \right).$$
(3.30)

The estimation of $||y_0||_{L_2}$ is exactly the same as in the case when h = 1. It has been proved in [4] in an analogous way as in (3.30) that the following inequality is true

$$\|y_0\|_{L_2} \le c_1^2 |s|^{-1} \Big(2\sqrt{M} \|g\|_{\widehat{L}_2} + 6\|f'\|_{L_2} \Big).$$
(3.31)

Combining estimations (3.27), (3.29), (3.30), (3.31), we obtain

$$\|u(x,s)\|_{L_{2}} \leq \frac{|h||f(1)| + |U[y_{0}](s)|}{|U[y_{1}](s)|} \|y_{1}(x,\mu)\|_{L_{2}} + \|y_{0}(x,\mu)\|_{L_{2}} \leq c_{0}c_{1}|s|^{-1} \Big(|h|\|f'\|_{L_{2}} + c_{1}^{2}(1+|h|)\Big(\sqrt{M}\|g\|_{\widehat{L}_{2}} + 3\|f'\|_{L_{2}}\Big)\Big) + c_{1}^{2}|s|^{-1} \Big(2\sqrt{M}\|g\|_{\widehat{L}_{2}} + 6\|f'\|_{L_{2}}\Big).$$

$$(3.32)$$

Finally let us estimate $||u'(x,s)||_{L_2}$. Thanks to (3.24) we have

$$u'(x,\mu) = -\frac{ihf(1) + U[y_0](s)}{U[y_1](s)}y'_1(x,\mu) + y'_2(x,s)\int_0^x y_1(t,s)L(t,s)dt + y'_1(x,s)\int_x^1 y_2(t,s)L(t,s)dt,$$
(3.33)

and analogously as in (3.32) we obtain

$$\|u'(x,s)\|_{L_{2}} \leq c_{0}c_{1}\Big(\|h\|\|f'\|_{L_{2}} + c_{1}^{2}(1+|h|)\big(\sqrt{M}\|g\|_{\widehat{L}_{2}} + 3\|f'\|_{L_{2}}\big)\Big) + c_{1}^{2}\Big(2\sqrt{M}\|g\|_{\widehat{L}_{2}} + 6\|f'\|_{L_{2}}\Big).$$

$$(3.34)$$

The estimations (3.32) and (3.34) give us

$$||(A - sI)^{-1}w||_H \le r||w||_{H_2}$$

hence the theorem is proved.

Remark 3.5. In general, the constant r has a rather complicated form

$$r^{2} = 2 \max \left\{ \left(k_{1}^{2}(1+2M) + M\right), k_{2}^{2}(1+2M) \right\},\$$

where

$$k_1 = c_0 c_1 |h| + 3c_0 c_1^3 (1 + |h|) + 6c_1^2, \quad k_2 = c_0 c_1^3 (1 + |h|) \sqrt{M} + 2c_1^2 \sqrt{M}.$$

If $M \le 1$ then we can take $r^2 = 6(k_1^2 + 1/3)$.

Remark 3.6. When the density function ρ satisfies (1.4) and belongs to the space $W_1^1[0, 1]$, in order to prove Theorem 3.4 one can use asymptotic expressions for fundamental solutions y_1 and y_2 of the equation (3.10) from [5]. In this way one can obtain estimations of the same growth as in (3.27), (3.29), (3.30), and this allows us to complete the proof in the same way as in the proof of Theorem 3.4.

As a consequence of the previous theorem we obtain some information about the solutions of the problem (1.9)–(1.10) (see [3, Chapter II, Proposition 6.2]).

Corollary 3.7. Under the assumptions of Theorem 3.4 there exists positive constant r such that for any mild solution of the problem (1.9)-(1.10) with initial data $(v_0(x), v_1(x)) \in H$ the following estimations are true

$$\|V(t)\|_{H} \leq \|V(0)\|_{H}, \|V(t)\|_{H} \leq M_{\delta} \|V(0)\|_{H} e^{-\delta t}, \quad \forall \delta < r^{-1}, t \geq 0.$$

Acknowledgments

The author wishes to express his gratitude to Professor Alexander Gomilko for suggesting the problem and for his support of this work.

REFERENCES

- C. Cox, E. Zuazua, The rate at which energy decays in a string damped at one end, Indiana Univ. Math. J. 44 (1995) 2, 545–573.
- [2] C. Cox, E. Zuazua, The rate at which energy decays in a damped string, Comm. Partial Differential Equations 19 (1994) 1–2, 213–243.
- [3] K.J. Engel, R. Nagel, One-Parameter Semigroups for Linear Evolution Equations, Graduate Texts in Mathematics, 194. Springer-Verlag, New York, Berlin, Heidelberg, 1999.
- [4] A.M. Gomilko, V. Pivovarchik, Parameter dependent estimates for solutions of Sturm-Liouville equations, Methods Funct. Anal. Topology 6 (2000) 4, 26–42.
- [5] A.M. Gomilko, V.N. Pivovarchik, Asymptotics of solutions of the Sturm-Loiuville equation with respect to a parameter, Ukr. Matem. Zh. 53 (2001), 742–757 [in Russian]; English transl. in Ukrainian Math. J. 53 (2001), 866–885.
- [6] V.G. Maz'ya, Sobolev Space, Springer-Verlag, Berlin, 1985.

- [7] A. Pazy, Semigroups of Linear Operators and Applications to Partial Differential Equations, Springer-Verlag, New York, 1983.
- [8] R.S. Phillips, Dissipative operators and hyperbolic systems of partial differential equations, Trans. Amer. Math. Soc. 90 (1959) 2, 193–254
- M.A. Shubov, Asymptotic and spectral analysis of non-selfadjoint operators generated by a filament model with a critical value of a boundary parameter, Math. Meth. Appl. Sci. 26 (2003), 213–245.
- [10] M.A. Shubov, Asymptotics of resonances and geometry of resonance states in the problem of scattering of acoustic waves by a spherically symmetric inhomogeneity of the density, Differential and Integral Equations 8 (1995) 5, 1073–1115.
- [11] M.A. Shubov, Basis properties of eigenfunctions of nonselfadjoint operator pencils generated by the equation of nonhomogeneous damped string, Integral Equations and Operator Theory 25 (1996), 289–328.

Łukasz Rzepnicki keleb@mat.umk.pl

Nicolaus Copernicus University Faculty of Mathematics and Computer Science ul. Chopina 12/18, 87-100 Toruń, Poland

Received: May 11, 2012. Revised: June 22, 2012. Accepted: July 18, 2012.